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Name 30

3 What is the percentace by mass of aluninium in
aluminium axdde, A1203?

Petrn disho_ A irom nal

A 40%
B 53%
- C  62%
——4 pink colour o
D 66%
el containing / ) ] \\|11;|L-1m-.~|uru 4, In the @per:maqt below

ferroxyvl indicator ribhon
connecting wire

]

Which ion gives a pirnk aoloar with
ferrmayl irdicataor?

)
&)

Zine tin
A OH @ . -
24 1071
B R & bridge y
C 3t m )
D M g.2+ (@
zine chlornde tin chlonde
solution solution
Which of the following elavents is most
ey to ke ditained by elestralysis of its Electrans will flow fram
molten compounds?
A T1in to zirnc throgh the wire
A Calcium B Zinc to tin thragh the wire
B Gold C T1in to zinc trodh the im brdde
c T D Zirc to tin throgh the i brddee
D Zirc




Which of the following metals reacts

vigyausly with acid?
A Magnesium

B Siter

C Iead

D Tn

Inwhiichof the followirg sibetrias will te
iron be pratected fram rusting?
A Leed pipes carected to iro pipes.

B Qyeer reils used to suygoart irm
dets

C Tron plates held by agqgoer rivets
D Zinc reils vead to sugoart iron gests

Which of the following cells would

praduce the highest voltace?
(You may wish to use page 7 of the data
bodklet to help yau.)

Cu Cu

elactralyte

elactralyte

elactralyte

elactralyte
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Monomers used to meke addition
polymers nust be

carbdydrates
hydrocarians
sabrated
nsaturated

Unw

Rolyethae is

a synthetic addition polymer

a retiral addition polyner

a synthetic codensatiaon polymer
a matural caxensation polymer

U w P

Which of the following salts canle

A calcitmnityate
B calcium chlaride
C silver dilaride

D nickel suldete

Which of the following is ot afetilisx?

Potassium sulghate
Sodium chloride
Sodivm nitrate
Sodium phosphate

Unw

A sanple of polluted water gives a green
flare colour. Which element nust e

aresat in the weter?
A Calcium

B Copper

C Potassium

D Sodium
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.

Wen superglie sets, apolymer is famed. Part of the polyner structure is shoan.

I R e
S T T
| |
H COOCH, H COOCH, H COOCH,
@  Drawthe stuctare of the rapest wnit in the superglve polyner.
b  The polymer shown above aotains methyl groups ( GH,) 1

Aother type of superghe, usad to close atts, has the metdyl grogs replaced by
either hityl graps (C H,) ar oyl graps.
Coplete the table to show the runoer of caribon and hydrogen atars in an

oyl grap.
Number of atoms
Group Carbon Hydrogen
methyl 1 3
butyl 4 0
octyl

0 Naea toxic gas mede when superglue bums.
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4. Apypil crried ait a titration usirg the damicals arnd agearatus below.

Rough : 5
hydrochloric acid titre Ist titre | 2nd titre
m 0- =
/ 1 mol/] Initial burette 03 02 05
reading/-‘cm3 E e =
emalbarcll | 66 | Bs4 | 9sM
reading/cm
Volume
ii 26-3 25- 24¢
used/cm3 ? > 9

10cm?®

sodium hvdroxide
solution + indicator

@ EHrgterailts intetaile, alailate e averae volure of hydrochlaric acid
required toratralise the sadivmbydraxide solutian.

b) Teeastim for the reactio is:
NeCH + H1 ---> NeCl + HO

Ueing your answer franpart (a), caladate the coxatration of the sodium hydraxide
sohtion.
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5. A pxpil s=twp the followirg cell.

mrtrr.\?ﬁ\

carbon electrode A carbon electrode B

solution containing
iedide 1ons, 1ag)

solution containing
silver ions, Ag'laqg)

Electrade Reactions mhmE;la;:e _
A Agllag) + € —=  Ag(s)
B 2l(ag) —» L) + 2¢

8 Cohire the two im-electran equatians far the electrode reactians to produce
a alancad redox equatian.

b  Waet is the pupose of the i ridee?

o] Describe the damical test which could e used to gdhow that iodire is formed at
electroe B.
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16.

Frergy is required to renove an electran from an atam.
Tre grach dows the eergy required to do this far the first 19 elavaits.

He

2000

Energy
required

(k] mal™)

HEIE

1 2 3 4 5 6 7 8 9 101112 13 14 15 16 17 18 19 20

.‘!'Ll(}[]'] i.\'_' n LlIn1.JlJ r

8  Describe what hagoens to the energy required going down a graup.

D  Descrdbe the gmeral trad in the energy required going fram sodium to argm.

0 Drawalar an the graph to show the energy you would expect to ke required far
the elarent with atanic rner 20.
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17. Thordum 227 decays by alpha enissian.

8 Cxoplete the nclear equatio for the alga decay of thorium-227.

D A saple of thorium-227 waes placed in a wooden bax. A radiation detector was
held 10 an away fram the box.
Wiy was alga radiation not detected?

0  Thodun227 hes alelf-life of 18 days. Wet fraction of the argiral radicactivity
will ramein in a sarple which is 36 days old?

[Turn over
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18. Ammia is produced in the Haber process.
Tre percatace vield of amaiia, dotained at different pressures, is shown in the table.

Pressure/ Percentage vield
atmospheres of ammonia

50 B
100 10
150 14
204 19
251 22
350 29
401 32

@ Drawa lire grgh of the results.
Uee goagariate scales to fill most of the grach reper.

b) Using your graph, estimate the yield of ammmia at 300 atmosgheres.

0  Which two gases react tomeke anmmonia 1 the Haler process?
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